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During my vist to Cuttack I participated in the birthday celebration of the late Justice Harihar Mahapatra, I
went there at the invitation of justice Ranganath Mishra. For me, it was a revelation, how the independence
movement. the first vision for the nation, had created the larger-than-life figure of Justice Harihar Mahapatra.
He lived to the age of ninety-two and established Cuttack Eye Hospital, Utkal University and above all
organized multi-pronged efforts to remove poverty. My biography in Oriya was released. At the end of my
speech the youngsters crowding around put forth many questions.

The first question was, 'Sir, tells us which are your favourite books. that vou loved and which have shaped
your mind?'

I said, 'Four books in my life have been very close to my heart. I cherish treading them. The first is Man the
Unknown by Dr Alexis Carrel. a doctor turned-philosopher and a Nobel laureate. This book highlights how the
mind and body both have to be treated in an ailment as the two are integrated. You cannot treat one and ignore
the other. In Particular, children who dream of becoming doctors should read the book. They will learn that the
human body a mechanieal system it is a very intelligant on with a most intricate and sensitive feedback
system. The second book. one I venerate, is Tiruvalluvar's Thirukkural, which provides an excellent code of
life. The third Light from Many Lamps by Lillian Eichler Watson which has touched me deeply. It illuminates
how we live and has been an invaluable guide to me for fifty years. And the Holy Quran is, of course. a
constant companion.'

Sub questions

Question Number : 1 Question Id : 6863404345 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Choose the best option from the given alternative the book ™Man the unknown' highlights that the mind and the
body are to be equally trested in a ailment as they are integrated. Replace the underlined word from a suitable
synonym given below.

1. Collaborated

3]

. Removed
3. Disintegrated
4. Separated

Options :

68634017201. 1
68634017202. 2
68634017203. 3
68634017204. 4

Question Number : 2 Question Id : 6863404346 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Choose the best option from the given alternative. The author participated in the birthday celebration of

1. Justice Ranganath Mishra
2. Dr Alexis Carrel
3. Justice Harithar Mahapatra

4. Lillian Eichler Watson

Options :

68634017205. 1
68634017206. 2
68634017207. 3
68634017208. 4

Question Number : 3 Question Id : 6863404347 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Choose the best option from the given alternatives the book had a deep impact on the author.

1. Thiruklural

[ B

. The Holy Quran
3. Light from many lamps

4, Man the unknown

Options :

68634017209. 1
68634017210.2
68634017211.3
68634017212. 4

Question Number : 4 Question Id : 6863404348 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Find a word from the passage that is an antonym to the word 'Conceal'
1. Ailment
2. Illuminate
3. Revelation
4. Sensitive

Options :

68634017213. 1
68634017214. 2
68634017215.3
68634017216. 4



Question Number : 5 Question Id : 6863404349 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Find a word from the passage that means "very complicated."

1. Highlight

[ ]

. Multi-pronged
3. Invaluable

4. Intricate

Options :

68634017217. 1
68634017218. 2
68634017219.3
68634017220. 4

Question Id : 6863404344 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension

During my vist to Cuttack I participated in the birthday celebration of the late Tustice Harihar Mahapatra. 1
went there at the invitation of justice Ranganath Mishra. For me, it was a revelation, how the independence
movement. the first vision for the nation, had created the larger-than-life figure of Justice Harihar Mahapatra.
He lived to the age of ninety-two and established Cuttack Eye Hospital, Utkal University and above all
organized multi-pronged efforts to remove poverty. My biography in Oriya was released. At the end of my
speech the youngsters crowding around put forth many questions.

The first question was, 'Sir. tells us which are your favourite books. that you loved and which have shaped
your mind?'

I said, 'Four books in my life have been very close to my heart. I cherish treading them. The first is Man the
Unknown by Dr Alexis Carrel, a doctor turned-philosopher and a Nobel laureate. This book highlights how the
mind and body both have to be treated in an ailment as the two are integrated. You cannot treat one and ignore
the other. In Particular, children who dream of becoming doctors should read the book. They will learn that the
human body a mechanieal system it is a very intelligant on with a most intricate and sensitive feedback
system. The second book. one I venerate, is Tiruvalluvar's Thirukkural, which provides an excellent code of
life. The third Light from Many Lamps by Lillian Eichler Watson which has touched me deeply. It illuminates
how we live and has been an invaluable guide to me for fifty years. And the Holy Quran is. of course, a
constant companion.'

Sub questions

Question Number : 1 Question Id : 6863404345 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Choose the best option from the given alternative the book ™Man the unknown' highlights that the mind and the
body are to be equally trested in a ailment as they are integrated. Replace the underlined word from a suitable
gynonym given below.

1. Collaborated
2. Removed
3. Disintegrated
4. Separated

Options :

68634017201. 1
68634017202. 2
68634017203.3
68634017204. 4

Question Number : 2 Question Id : 6863404346 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Choose the best option from the given alternative. The author participated in the birthday celebration of

1. Justice Ranganath Mishra
2. Dr Alexis Carrel

3. Justice Harihar Mahapatra
4. Lillian Eichler Watson

Options :

68634017205. 1
68634017206. 2
68634017207. 3
68634017208. 4

Question Number : 3 Question Id : 6863404347 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Choose the best option from the given alternatives the book had a deep impact on the author.

1. Thirukdural

| ]

. The Holy Quran
3. Light from many lamps
4. Man the unknown
Options :

68634017209. 1
68634017210. 2



68634017211. 3
68634017212. 4

Question Number : 4 Question Id : 6863404348 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Find a word from the passage that is an antonym to the word 'Conceal'
1. Ailment
2. Illuminate
3. Revelation
4, Sensitive
Options :
68634017213. 1
68634017214. 2

68634017215.3
68634017216. 4

Question Number : 5 Question Id : 6863404349 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Find a word from the passage that means "very complicated."

1. Highlight

[ ]

. Multi-pronged
3. Invaluable

4. Intricate

Options :

68634017217. 1
68634017218.2
68634017219. 3
68634017220. 4

Sub-Section Number : 2
Sub-Section Id : 686340131
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 6 Question Id : 6863404350 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT Fill the blanks in List I with suitable prepositional phrases from List II

LIST1I LISTII
A |l doubt if she got the job I JAt the verv least
B. |They should give me my monev back or offer to exchange the shoes| II. |On balance
C. [l thought 1 understood it. but I realized it was more complicated I11. |On merit
D. [l would sav that, . the best thing is to do nothing for the moment TV |On reflection

Choose the most appropriate answer from the options given below:

1. A-ITI. B-IV. C-1I. D-I

| )

AL B-IIIL C-IL. D-IV
3. AT B-1. C-IV. D-IT
4. A-IL. B-IV. C-I1I, D-I

Options :

68634017221. 1
68634017222.2
68634017223.3
68634017224. 4

Question Number : 6 Question Id : 6863404350 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List II Fill the blanks in List I with suitable prepositional phrases from List II

LIST1I LISTII
A |l doubt if she got the job I |At the verv least
B. |They should give me my monev back or offer to exchange the shoes| II. |On balance
C. [l thought 1 understood it, but I realized it was more complicated I11. |On merit
D. [l would say that, , the best thing 1s to do nothing for the moment TV |On reflection

Choose the most appropriate answer from the options given below:

1. A-IIT. B-IV. C-I1. D-I

| B

AT B-IIIL C-IL. D-IV
3. AT B-1. C-IV. D-IT
4. A-II. B-IV. C-I11. D-I

Options :

68634017221. 1
68634017222.2
68634017223.3
68634017224. 4

Question Number : 7 Question Id : 6863404351 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Accepting something unpleasant when one can not avoid of os:
1. Take a Bull by the horn
2. In the blues
3. Black and white

4. Bite the bullet

Options :

68634017225 1
68634017226.2
68634017227. 3
68634017228. 4

Question Number : 7 Question Id : 6863404351 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Accepting something unpleasant when one can not avoid of os:

1. Take a Bull by the horn

[ ]

. In the blues
3. Black and white

4. Bite the bullet

Options :

68634017225. 1
68634017226. 2
68634017227. 3
68634017228. 4

Question Number : 8 Question Id : 6863404352 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A. Normally, a hair allowed to grow uncut will last from two to six year

B. These harmones supress the activity of certain follicles on the scalp so that the life span of the hair that
grows from them is reduced

. But as boldness sets in. the hair in some of head falls out more often

. The overall effects is that hair in those places gets thinner and shorter until it in reduced to fuzz

. The exact genetic code that causes boldness and thinning still eludes researchers, but they know it is has
something to do with make sex harmone called androgens

el Ne!

Choose the most appropriate answer from the options given below:
1.D,C.A.B.E
2:B, €. D;AE
3:B,BACD
4.E.B.C,.D.A

Options :

68634017229. 1
68634017230.2
68634017231.3
68634017232. 4

Question Number : 8 Question Id : 6863404352 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A. Normally, a hair allowed to grow uncut will last from two to six year

B. These harmones supress the activity of certain follicles on the sealp so that the life span of the hair that
grows from them is reduced

. But as boldness sets in. the hair in some of head falls out more often

. The overall effects is that hair in those places gets thinner and shorter until it in reduced to fuzz

. The exact genetic code that causes boldness and thinning still eludes researchers, but they know it is has
something to do with make sex harmone called androgens

[l e

Choose the most appropriate answer from the options given below:
1.D,.C.A B.E
2.B.C.D,A.E
3.EBACD

4.E.B,C.,D. A

Options :

68634017229. 1
68634017230. 2
68634017231.3
68634017232. 4

Question Number : 9 Question Id : 6863404353 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the options below this sentence should replace it to make it grammatically correct:

My decision for buying an electric car was motivated by economical consideration.

1. My decision for buying an electrie car was motivated by economic consideration

[ B

. My decision to buy an electric car was motivated by economic consideration

¥ 5]

. My decision to buy an electric car was motivated by economical considerations

4. No correction

Options :

68634017233. 1
68634017234.2
68634017235.3
68634017236. 4

Question Number : 9 Question Id : 6863404353 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the options below this sentence should replace it to make it gramumatically correct:

My decision for buying an electric car was motivated by economical consideration.

1. My decision for buying an electric car was motivated by economic consideration

J

. My decision to buy an electric car was motivated by economic consideration

%)

. My decision to buy an electric car was motivated by economical considerations

4. No correction

Options :

68634017233. 1
68634017234. 2
68634017235.3
68634017236. 4

Question Number : 10 Question Id : 6863404354 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

An explosive for firing a bullet or a rocket is:

1. Putsch

| R

. Prosody

Laa

. Propellant
4. Pulmonary

Options :
68634017237. 1



68634017238.2
68634017239.3
68634017240. 4

Question Number : 10 Question Id : 6863404354 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

An explosive for firing a bullet or a rocket is:

1. Putsch

[ Rl

. Prosody

Laa

. Propellant
4. Pulmonary

Options :

68634017237. 1
68634017238. 2
68634017239.3
68634017240. 4

Question Number : 11 Question Id : 6863404355 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A certain sum fetched simple interest of 23200 at the rate of 6.25% per annum in 4 years. What is the sum?

1. ¥13000

[ Rl

. 212800
3.212500
4. 212000

Options :

68634017241. 1
68634017242.2
68634017243.3
68634017244. 4

Question Number : 11 Question Id : 6863404355 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A certain sum fetched simple interest of 23200 at the rate of 6.25% per annum in 4 years. What is the sum?

1. ¥13000

[ Rl

. 212800
3.212500
4. 212000

Options :

68634017241. 1
68634017242.2
68634017243. 3
68634017244. 4

Question Number : 12 Question Id : 6863404356 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A candidate who gets 20% marks fails by 10 marks. Another candidate who gets 42% marks gets 12 marks
more than the minimum passing marks. Find the maximum marks of the test.

1.50

4. 150

Options :

68634017245. 1
68634017246. 2
68634017247.3
68634017248. 4

Question Number : 12 Question Id : 6863404356 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A candidate who gets 20% marks fails by 10 marks. Another candidate who gets 42% marks gets 12 marks
more than the minimum passing marks. Find the maximum marks of the test.

1. 50

| B
=21
=

4. 150

Options :

68634017245. 1
68634017246. 2
68634017247.3



68634017248. 4

Question Number : 13 Question Id : 6863404357 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

. . 9 . : . .
If a man increases his speed to — times his usual speed, he reaches his office 24 minutes before the office

time. Find the time taken by to reach his office with usual speed.

1. 50 minutes

| S

. 52 minutes
3. 54 minutes
4. 55 minutes

Options :

68634017249. 1
68634017250. 2
68634017251. 3
68634017252. 4

Question Number : 13 Question Id : 6863404357 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If a man increases his speed to — times his usual speed, he reaches his office 24 minutes before the office
J

time. Find the time taken by to reach his office with usual speed.

1. 50 minutes

| S

. 52 minutes
3. 54 minutes
4. 55 minutes

Options :

68634017249. 1
68634017250. 2
68634017251. 3
68634017252. 4

Question Number : 14 Question Id : 6863404358 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



43 | | 5
The value of —- 3+ o1 2- is

[3=)
1
o | =

4.2.7

Options :

68634017253. 1
68634017254. 2
68634017255.3
68634017256. 4

Question Number : 14 Question Id : 6863404358 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

43 | | 5
The value of - 3+ r|-2- is

Options :

68634017253. 1
68634017254.2
68634017255.3
68634017256. 4

Question Number : 15 Question Id : 6863404359 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If a right circular eylinder a height 14em is inereased in a sphere of radius 8cm then volume of the cylinder

3 bl
(in.cm?)- (use r==2).

1. 110

[

. 220
3.440

4. 600

Options :



68634017257. 1
68634017258. 2
68634017259.3
68634017260. 4

Question Number : 15 Question Id : 6863404359 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If a right circular eylinder a height 14em is inereased in a sphere of radius 8cm then volume of the cylinder

3 bl
(in.cm?)- (use r==2).

1. 110

2.220
3.440

4. 600

Options :

68634017257 1
68634017258.2
68634017259. 3
68634017260. 4

Question Number : 16 Question Id : 6863404360 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Find out which of the answer figures (1). (2), (3) and (4) completes the figure matrix:

o

AAA AA

, Py

QO O

L

>
e
\"-\.

Q0 | ?

A

AA

[

Options :

68634017261. 1
68634017262.2
68634017263. 3
68634017264. 4

Question Number : 16 Question Id : 6863404360 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Find out which of the answer figures (1). (2), (3) and (4) completes the figure matrix:

o

AAA AA

, Py

QO O

L

>
e
\"-\.

Q0 | ?

A

AA

[

Options :

68634017261. 1
68634017262.2
68634017263. 3
68634017264. 4

Question Number : 17 Question Id : 6863404361 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Pointing to a photograph. Aman tells his friend. "she is the grand daughter of the elder brothers of my father.
"How is the girl in the photograph related to Aman?

1. Sister

| B

. Maternal Aunt
3. Niece

4, Aunt

Options :

68634017265. 1
68634017266. 2
68634017267. 3
68634017268. 4

Question Number : 17 Question Id : 6863404361 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Pointing to a photograph, Aman tells his friend. "she is the grand daughter of the elder brothers of my father.
"How is the girl in the photograph related to Aman?

1. Sister

[ )

. Maternal Aunt
3. Niece
4, Aunt
Options :
68634017265. 1
68634017266. 2

68634017267. 3
68634017268. 4

Question Number : 18 Question Id : 6863404362 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

What should come in place of the questions mark?

11, 20, 38, 74 ?

1. 146

[ B

. 154

%)

. 128
4. 136

Options :
68634017269. 1



68634017270. 2
68634017271.3
68634017272. 4

Question Number : 18 Question Id : 6863404362 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What should come in place of the questions mark?

11, 20, 38, 74 ?

[

146

[ B

. 154

5]

. 128
4. 136

Options :

68634017269.
68634017270.
68634017271.
68634017272.

AW N —

Question Number : 19 Question Id : 6863404363 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The giving statement iz followed by three arguments. Decide which of the options is correct about the given
arguments.

Statements: Should seniority be only eriterion for promotion in MNC's?
Arguments

I. Yes. otherwise seniors will feel humiliated
II. Yes, seniors are more experienced and must be rewarded
IIT. No. it would be an injustice to those juniors who are more deserving and suitable for higher position

1.Iand II
2. 11 and 111
3. Only III
4. OnlyI
Options :
68634017273. 1
68634017274. 2

68634017275.3
68634017276. 4

Question Number : 19 Question Id : 6863404363 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

The giving statement iz followed by three arguments. Decide which of the options is correct about the given
arguments.

Statements: Should seniority be only eriterion for promotion in MNC's?
Arguments

I. Yes. otherwise seniors will feel humiliated
II. Yes, seniors are more experienced and must be rewarded
TII. No. it would be an injustice to those juniors who are more deserving and suitable for higher position

1.IandII
2. 11 and 111
3. Only III
4. Only I
Options :
68634017273. 1
68634017274.2

68634017275.3
68634017276. 4

Question Number : 20 Question Id : 6863404364 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

If QUALITY is coded as 8313927, then GOVERNMENT i1s coded as:

1. 7645954551

| ]

. 7645954552
3. 7645954452
4. 8645954552

Options :

68634017277. 1
68634017278. 2
68634017279.3
68634017280. 4

Question Number : 20 Question Id : 6863404364 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



If QUALITY is coded as 8313927, then GOVERNMENT is coded as:

1. 76459545351

[

7645954552
3. 7645954452
4. 8645954552

Options :

68634017277 1
68634017278.2
68634017279. 3
68634017280. 4

Question Number : 21 Question Id : 6863404365 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
Name of Padma Vibhushan Awardee Awarded in the service
A [Ms. Prabha Atre I | Public Affaus
B. Mr Kalyan Singh II. |Literature and Education
C. Mr. Radheyshvam Khemka III. |Civil Service
D. |General Bipin Rawat IV, |Art

Choose the most appropriate answer from the options given below:

1. A-I B-III. C-IV. D-II
2. A-IV. B-1. C-I11, D-1I
3. A-IV. B-I, C-I1, D-III
4. A-I. B-IV. C-II. D-III

Options :

68634017281. 1

68634017282. 2

68634017283.3
68634017284. 4

Question Number : 21 Question Id : 6863404365 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

LIST1I LISTII
Name of Padma Vibhushan Awardeg Awarded in the service
A s Prabha Atre I | Public Affairs
B. Mr Kalvan Singh [T |Literature and Education
C. Mr. Radheyshvam Khemka 1M1 |Civil Service
D. |General Bipin Rawat IV |Art

Choose the most appropriate answer from the options given below:

1. A-I. B-III. C-IV. D-II
2. A-IV. B-I. C-IIL, D-II
3. A-IV, B-1. C-11. D-III
4. A-L. B-IV. C-II. D-III

Options :

68634017281. 1

68634017282.2

68634017283. 3
68634017284. 4

Question Number : 22 Question Id : 6863404366 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Date of launching of satellite "Aryabhatta' is

1. 7 June, 1979

[ Rl

.19 April, 1975
3. 19 June, 1953
4. 07 April, 1981

Options :

68634017285. 1
68634017286. 2
68634017287. 3
68634017288. 4

Question Number : 22 Question Id : 6863404366 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Date of launching of satellite "Aryabhatta' is

1. 7 June, 1979

[ Rl

.19 April, 1975
3,19 June, 1953
4. 07 April, 1981

Options :

68634017285. 1

68634017286. 2

68634017287.3
68634017288. 4

Question Number : 23 Question Id : 6863404367 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: Due to disease' Pneumonia'. lungs of the human body are affected.

Statement II: Lungs of human body are also affected due to disease Diptheria’

In the light of the above statements. choose the most appropriate answer from the options given below:

1. Both Statement I and Statement IT are correct

| ]

. Both Statement I and Statement II are incorrect
3. Statement I is correct but Statement II 1s incorrect

4. Statement I is incorrect but Statement I1 is correct

Options :

68634017289. 1
68634017290. 2
68634017291.3
68634017292. 4

Question Number : 23 Question Id : 6863404367 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements:

Statement I: Due to disease' Pneumonia'. lungs of the human body are affected.

Statement IT: Lungs of human body are also affected due to dizsease Diptheria’

In the light of the above statements. choose the most appropriate answer from the options given below:

1. Both Statement I and Statement IT are correct

| B

. Both Statement I and Statement II are incorrect
3. Statement I is correct but Statement II is incorrect

4. Statement I i3 incorrect but Statement I1 is correct

Options :

68634017289. 1
68634017290. 2
68634017291. 3
68634017292. 4

Question Number : 24 Question Id : 6863404368 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Passport Sewa Diwas is celebrated on which day?

1. 12 March

[ Rl

. 24 June
3. 18 May
4. 20 April
Options :
68634017293. 1
68634017294. 2

68634017295. 3
68634017296. 4

Question Number : 24 Question Id : 6863404368 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Passport Sewa Diwas is celebrated on which day?

1. 12 March

[ R]

. 24 June
3. 18 May

4. 20 April



Options :

68634017293. 1
68634017294.2
68634017295. 3
68634017296. 4

Question Number : 25 Question Id : 6863404369 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A. The election commission of India has decided to increase the amount of security for Lok Sabha
candidates from the present 10,000 to 25.000

B. The election commission of India has decided to increase the amount of security for Vidhan Sabha
candidate from the present 25.000 to 215,000

C. As per election commission, the candidate who secure less than one-sixth of the valid votes caste lose
their security deposit in an election

D. The house of the people elects its own presiding officers. called speaker and the depty speaker

Choose the correct answer from the options given below:

1. Aand B only

| B

.A. Cand D only
3. A.Band C only

4. A B.Cand D only

Options :

68634017297. 1
68634017298. 2
68634017299. 3
68634017300. 4

Question Number : 25 Question Id : 6863404369 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A. The election commission of India has decided to increase the amount of security for Lok Sabha
candidates from the present 210,000 to 325,000

B. The election commission of India has decided to increase the amount of security for Vidhan Sabha
candidate from the present 25.000 to 215,000

C. As per election commission, the candidate who secure less than one-sixth of the valid votes caste lose
their security deposit in an election

D. The house of the people elects its own presiding officers. called speaker and the depty speaker

Choose the correct answer from the options given below:

1. Aand B only

| ]

.A. Cand D only
3. A.Band C only

4. A B. Cand D only



Options :

68634017297. 1
68634017298. 2
68634017299. 3
68634017300. 4

Part B: Mathematics

Section Id : 68634088
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 75
Number of Questions to be attempted : 75

Section Marks : 300
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 686340132
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 26 Question Id : 6863404370 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Let U and ¥ are distinet 4-dimensional subspaces of a vector space V7 of dimension 6. Consider the following
statements:

A. The dimension of U W is either 2 or 3.
B. The dimension of I+ ¥ is either 5 or 6.
C. The dimension of U N ¥ is always greater than 4.
D. The dimension of U + W is always greater than 4.

Choose the correct answer from the options given below:

1. A. B and D only

[ ]

.A. B and C only
3.B.Cand D only
4. C and D only

Options :

68634017301. 1
68634017302. 2
68634017303. 3
68634017304. 4

Question Number : 26 Question Id : 6863404370 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



M1 & U aun i 6 & wiew gafp 7o i Igiit 3wy § | Fafafed syl &1 [dar sife:

Avnwotfdmara2ars gl
B.U+woifamardisare gl
c.unwo famadgs T AT gl
D.U+ Wl [dar9sa 4 € AP 81

i f4U T8 fasedl § ¥ Hel 3R & 99 DieI:

1. PAdA. B 3IRD
2. HIAA. B3R C
3. HAdB. C IR D
4. T C ARD

Options :

68634017301. 1

68634017302. 2

68634017303.3
68634017304. 4

Question Number : 27 Question Id : 6863404371 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

oy

The positive term series z — is convergent if
n=11

1.p>=0
2.p=>1
3p<=l1
4p=1

Options :

68634017305. 1
68634017306. 2
68634017307. 3
68634017308. 4

Question Number : 27 Question Id : 6863404371 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



T A A A0 Y L st . afe-

i

n=11
1.p=0
2.p>1
J.p<l
4.p=1

Options :

68634017305. 1
68634017306. 2
68634017307. 3
68634017308. 4

Question Number : 28 Question Id : 6863404372 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following set(s) is/are convex set(s)?

A {(x)):xp <1,x20,y>0}
() ?-3>—y L xy>
{&x »): }.-2 <4x, x>0, y= 0}

(G2 432 <4)

oo w

Choose the most appropriate answer from the options given below:
1. A and B only
2. Aand C only
3.Band C only

4. C and D only

Options :

68634017309. 1
68634017310. 2
68634017311. 3
68634017312. 4

Question Number : 28 Question Id : 6863404372 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



frafaa Tg=a & 9 SH 9 S (@ o) 9= 87
{(x, y):
{06 p):

)
)
{(x »):
)

Onwp

(2]

+ 1A
ot

Ar b
N
—

2 feu e faeedl & 9 96l SR @1 95 S
1. $ad A 3R B
2. PaA AR C
3. $adB AR C
4.%ad C 3R D

Options :

68634017309. 1
68634017310. 2
68634017311. 3
68634017312. 4

Question Number : 29 Question Id : 6863404373 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The solution of the Linear Programming Problem

maximize Z=107x + y

subject to constraints x +y <2

3x+y=3
x,y=0is
1.0
2.2
3.4

4. No solution

Options :

68634017313. 1
68634017314.2
68634017315. 3
68634017316. 4

Question Number : 29 Question Id : 6863404373 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Ed YT 9951

Z = 107x + y BT G0 Hy7 ARyl & Sfaid
xotgns 2

—3x+y>=3

T Oﬁ@f’f%?

o}
2

3.4

AR

Options :

68634017313. 1
68634017314. 2
68634017315.3
68634017316. 4

e

Question Number : 30 Question Id : 6863404374 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1.
is
-2

The natural domain of definition of the function f(z)=

1. whole complex plane

2=1.

| ]

. . . . . . 7
. whole complex plane excluding the points which lie on the unit circle x* +

3. complex plane excluding the point z = 0.

4. whole complex plane excluding the point z = %

Options :

68634017317. 1
68634017318. 2
68634017319. 3
68634017320. 4

Question Number : 30 Question Id : 6863404374 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



G f(z) = —iz|2 1 9T Ui fae Wid &
1. gl ey ad
2. 5Dl gu 2 +)? = 1 W YT fHgail & aifafed vt afdy aa
3. f8g 2 = 0 P affafvaa gfdy aa

1. farg :=% & aifafeea woagof afds qa

Options :

68634017317. 1
68634017318.2
68634017319. 3
68634017320. 4

Question Number : 31 Question Id : 6863404375 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

For what value(s) of k the set of vectors {(1. k. 5). (1, =3. 2). (2. —1. 1)} form a basis in R3?

o
i
Il
I
o

4. k+-8

Options :

68634017321. 1
68634017322.2
68634017323.3
68634017324. 4

Question Number : 31 Question Id : 6863404375 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

k@ 13531 O & o7 I &1 99= {(1. k. 5). (1. -3. 2). (2.—1. 1)}, B® 1 U SRR (3MYR) T 87

I Wil
2.k=-8
3.k+£8
4. k+£-8

Options :



68634017321. 1
68634017322.2
68634017323.3
68634017324. 4

Question Number : 32 Question Id : 6863404376 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

d= g
Evaluate the integral (ﬁﬁ ¢ |~ - fl =2
N (:‘ +4)

!._'J
3,
=X

Options :

68634017325. 1
68634017326. 2
68634017327. 3
68634017328. 4

Question Number : 32 Question Id : 6863404376 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

JaEEA ‘f’—dz 7 Cile =11 =2 g1 o g i
f'(:z +4)_

Options :

68634017325. 1
68634017326. 2
68634017327.3
68634017328. 4



Question Number : 33 Question Id : 6863404377 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The area bounded by the curves y = x% and y=4- xis

1. 16v2

]

Options :

68634017329.
68634017330.
68634017331.
68634017332.

AW N —

Question Number : 33 Question Id : 6863404377 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Tl = TUy=4 - AR &A T &a%ha &

1 16 \.I’E_

!-J

16
3

;, len

.8
R
V3
Options :

68634017329. 1
68634017330. 2

68634017331.3
68634017332. 4

Question Number : 34 Question Id : 6863404378 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which one of the following is a cyclic group?

1. The set of non-zero square matrices of order 2 * 2 over 7 under matrix multiplication

2. The group of roots (real or complex) of the equation x” — 1 = 0. where 7 is a natural number

%)

. The group (Q / { U} of non-zero rationals under multiplication

4. The group (} of rationals under addition

Options :

68634017333. 1
68634017334. 2
68634017335.3
68634017336. 4

Question Number : 34 Question Id : 6863404378 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
[rafaad o ¥ &1 91 9%y 91E
1. 30U & T[UF & Sfaia = OR GRS B 2 « 2 & IR I 3Mode] & =g
. HHIBRU " — 1 = 0, W6l n Ueb Wi H¥AT 5. & Hall (ARldd Ual Hity) &1 94g

[ B

L)

TR iy gEmsd @ / {0} BTIUE & Sidid 998
4. gicE d@iell (¢ &1 9 & Sidiid 98

Options :

68634017333. 1
68634017334.2
68634017335. 3
68634017336. 4

Question Number : 35 Question Id : 6863404379 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

M P A

A scalar potential Y has the gradient defined as Y\ = yz i + Xz j + xy k. The value of the integral

. —* A A A
J‘(VL[J -d ¥ onthe curve :xf+'1=j+ zk. wherecurve Cix=t.y=tz=3r"(1=2t<3)is:

[
—

3.242

4. 726



Options :

68634017337. 1
68634017338.2
68634017339. 3
68634017340. 4

Question Number : 35 Question Id : 6863404379 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U@ G fAUT Y &1 Haurdl 39 WeR 9RyNa 8 vy = yz?‘ +.rz}'+ .qufé.amw:r

. — ” A A - P b =
J}\V‘P-dr DIUFA. TP r =xi+yj+zk WAGTAPC:x=t,y=~z=32(1<t<3) &

b
—

3.242
4. 726

Options :

68634017337.
68634017338.
68634017339.
68634017340.

AW N —

Question Number : 36 Question Id : 6863404380 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The work done by the force F=(x* - Jrl] i+(x+y)/ in moving a particle along the closed path C containing

i 5 . = ~ .
the curves x + y =0, x" +y" =16 and y = x in the first and fourth quadrant is

h

2 .
1. == umits

"

o
2. 527+ 94 units
3.52n— 96 units
4, 967 — 52 units

Options :

68634017341. 1
68634017342.2
68634017343. 3
68634017344. 4

Question Number : 36 Question Id : 6863404380 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



T F=(x* =57} i+ (x+y) | FRITD B DI g 9 ForeH ap
x+y=0,x2 + > =16 AUy = x, YUH IR Iqd gl & 9ftifea 8. & wr 1foqH 367 & o o m o §
2 5ord

a3
o

2. 520+ 94 THG
3.52n—96 S5
4. 06— 52 SBIg

Options :

68634017341. 1
68634017342.2
68634017343. 3
68634017344. 4

A

Question Number : 37 Question Id : 6863404381 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

—* A ES M
The line integral }" = R 2y j+ 22 k over the straight line path from the point (-1, 2, 3) to (2, 3, 5) is

27
15

| ]

Options :

68634017345.
68634017346.
68634017347.
68634017348.

AW N =

Question Number : 37 Question Id : 6863404381 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Vooxtioay)e 2k 1O W@ 0Y R dg (1, 2, 3) T (2, 3, 5) T @1 GHIGH &1 A §

Options :

68634017345.
68634017346.
68634017347.
68634017348.

AW N~

Question Number : 38 Question Id : 6863404382 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e = s =
Let 7 be a vector field and fbe a sealar point function. then

—3
curl {f° V') is equivalent to

i

: [g?'ad_f']--i-";+_f'dfr(;]

A — . e
= (grad f)xV + f curl (V)

LF¥)

(grad f)- [dr'v I_’}] + curl {c:m’ ;}

— —»
4 grad [div V] - f curl (V)

Options :

68634017349. 1
68634017350. 2
68634017351. 3
68634017352. 4

Question Number : 38 Question Id : 6863404382 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



HIHI i*Wﬁﬁ‘{[é&H% ﬁ?f@ﬂﬁﬂﬁgw%ﬂﬁ curl (f f_;) W%’

-}

N\ grad f)- v+ £ dh-(l«’J

—_

[ ]

(grad f}x? + [ curl (?)

Laa

(grad 1) (cﬁv V] + curl [c'im' V]

— e
4. grad [div V]— f curl (V)

Options :

68634017349. 1
68634017350. 2
68634017351.3
68634017352. 4

Question Number : 39 Question Id : 6863404383 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

. . ~ > 7 % .
Let S be a piecewise smooth surface of the sphere x“+ y* + z= = 16, z > 0, bounded by a simple closed curve

— A s A . :
A A ) . ; 2 5 : :
C.Let 4 [ Ty — }J_) : 2}}3_ ; 2};_ oy be a vector field which is continuous and has continuous

e A A
first order partial derivatives in a domain which contains 5. Then the value of _U(V x V').ndA, where 1 is
Wy
the unit normal vector to 5 is:

16

1
2.48n—3
364+ 3n
4. 16n
Options :

68634017353. 1
68634017354.2
68634017355. 3
68634017356. 4

Question Number : 39 Question Id : 6863404383 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



a

M S A 2+ 2 + 22 = 16, 2 > 0 BT o9 a1 gy & o & IR dad b ¢ gRIuRas g1 91
V =(3x—y)§ —2yz2 [ -2y h U SRR & QS o e ¢ Fur s H ofcifdy Hid 7 ¥ s pife

@ iR fade ol dd jj_'n-’x?z.iéd-i. Wl 1. SR SHIS AUAd 8. PTAH &

16

3.64+3n

4. 16m

Options :

68634017353. 1
68634017354.2
68634017355. 3
68634017356. 4

Question Number : 40 Question Id : 6863404384 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The all values of z. such that

‘E sinz = coshf} + isin#i p - where P 1s real, are

Lz=@ee)Fe (1) (Fo) 0L
%

[ ]

(3
. Z=Hm- {--]]H| i—T-I sBJ.n=U,i1,i2, .......
\

LIS

'
. Z=HT +(—1}” | g*—fﬁ}.ﬂ =0,+1,+2........
.

4 z=(2n+ ljg—+(—1)”[g+ ;ﬁ],n =0, £1,£2,......
.

Options :

68634017357. 1
68634017358. 2
68634017359. 3
68634017360. 4

Question Number : 40 Question Id : 6863404384 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



z & Ul 9. &Tel V2 sinz = coshf + isinh f . ﬁ@ﬁﬂ'ﬂﬁﬁm%%-

f

Y
1. z=(2n4 |]% # |}”|\§ | r]'i.J. n=0,£1+2,.....

.fq' A
2; _'—.IT:T-—{-—]]H: '—_;E*:]i =041 42,

" 'Jﬂ b
3. z=m+(-1) \—4-+.']3|.n=ll.-|_-l.i-2.,,,..,.

\ J
] L
4. z=(2n+1)z+(-1)" | +B [,n=0,£1,£2,.......
Options :

68634017357. 1
68634017358.2
68634017359.3
68634017360. 4

Question Number : 41 Question Id : 6863404385 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The solution of the differential equation
{x* + 6x2 + 2(x+)} dx — xdy=0

subject to the condition ¥(1) =0 is

L 2y(x)= xZ +x? (6 log|x| - 3) +4x

| ]

y(x)= %[xz st {l 2log|x| + 3] + 4,\}
3. y(x)=x* + 52 (12 log|x| +3) - 4x

4. 2p(x)=x* +x? (12 log|x|+3) - 4x

Options :

68634017361. 1
68634017362. 2
68634017363. 3
68634017364. 4

Question Number : 41 Question Id : 6863404385 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



HTHA THIBII (1 + 622 + 2(x+y)} dx — xdy=0, 5 b Ufqde 1(1) = 0 & I 8. 18 &

L 2y(x)= x4 xt (6log|x| - 3)+4x

2

| B}

vlx)= L.r: +x*(12 log|x|+3)+4x !

3. ylx)= x4 4-.1'3{12 Iug|.\'|+- 3)-4x
4. 2y(x) =x* + 2% (12 log|x] +3) — 4x
Options :
68634017361. 1
68634017362. 2

68634017363.3
68634017364. 4

Question Number : 42 Question Id : 6863404386 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the following statement is not correct?

1. If 4 and B are non-singular matrices. then (4F) is also a non-singular matrix.

b2

If AB = AC and A is non-singular matrix. then B =C.
3. The inverse of a non-singular symmetric matrix is also a symmetric matrix.
4. If A and B are symmnetric matrices, then (4B — BA4) is not a skew-symmetric matrix.
Options :
68634017365. 1
68634017366. 2

68634017367. 3
68634017368. 4

Question Number : 42 Question Id : 6863404386 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fFrafafad o 9o 9 oyF 9ol 78l 82
1. 91& 4 3R B FIHHONT TE © o (4B) 1l U chHIY 3TE & |

2. Ufd 4B = AC 3R A U gepUig AHg e dl B=C
3. U geh AT FAMT Sogg &1 ogohd i U JHiid 3o 5/l ¢
4.9 4 3R p 9O 3108 8. Ol (4B — B4) U [q99 FHAT To0g 751 o |

Options :
68634017365. 1



68634017366. 2
68634017367. 3
68634017368. 4

Question Number : 43 Question Id : 6863404387 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Let 4 and B be 2 = 2 matrices, then which of the following is correct?

1. det(A4 + B) + det(4 — B) = 2 det(A) + 2 det(B)

[ ]

. det(4 + B) + det(4 — B) = det(4) + det(B)
3. det(4 + B) + det(4 — B) = det(4) — det(B)
4. det(4 + B) + det(4 — B) = 2 det(4) — 2 det(B)
Options :
68634017369. 1
68634017370. 2

68634017371. 3
68634017372. 4

Question Number : 43 Question Id : 6863404387 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

M i 4 3R B, 2 « 2 & SHTAE § dl FEfiREd I 9 &7 |1 98l o2

. det(A4 + B) + det(4 — B) = 2 det(A) + 2 det(B)

—

| S

. det(A + B) + det(4 — B) = det(4) + det(B)

L

 det(4 + B) + det(4 — B) = det(4) — det(B)

o

. det(A4 + B) + det(4 — B) = 2 det(A4) — 2 det(B)

Options :

68634017369. 1
68634017370. 2
68634017371.3
68634017372. 4

Question Number : 44 Question Id : 6863404388 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



. x, if x is a rational number , , ,
Let f(x) be defined on [0, 3] by f(x) =- . o Then f(x) is continuous in the
s 13 — x,if x is an irational number

interval at:

1. no point

[ )

. all points
3. 2 points
4. one point
Options :
68634017373. 1
68634017374. 2

68634017375.3
68634017376. 4

Question Number : 44 Question Id : 6863404388 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

R )= [ x,ul2xis vs afdg ST &
: (x}_{sﬂx,uﬁxw-amﬁﬁum% :

B
1. fopedt fifg w1l
2. g4t figai o
3. alfdgai w
4. TP fdgmw

[0. 3] 9% URYITNG B, 98 o £(x) siawa & dda

Options :

68634017373. 1
68634017374.2
68634017375. 3
68634017376. 4

Question Number : 45 Question Id : 6863404389 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



If 4 1s symmetric real valued matrix of dimension 2022, then eigenvalues of 4 are

1. 1011 distinct pairs of complex conjugate numbers

[

. 1011 pairs of complex conjugate numbers not necessarily distinet
3. 2022 distinet real values
4. 2022 real values not necessarily distinct

Options :

68634017377. 1
68634017378. 2
68634017379. 3
68634017380. 4

Question Number : 45 Question Id : 6863404389 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
¢ 4 aRaiae SEsl &1 U 9aiid STog o. forae! [amr 2022 8. 1.4 & Sif¥yenafoe aF &
1. gty Syl Searsdi & 1011 i gm
2. Gty Sl SEmed & 1011 g, sfard =0 3 fig =g
3. 2022 T8 gRafd® AF
4. 2022 TTEdlae AT, f-ari =9 4 i =gt
Options :
eI,

68634017379. 3
68634017380. 4

Question Number : 46 Question Id : 6863404390 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which one of the following rings is an integral domain?

1. Z100
2 %10
3. %113
4. 2153
Options :

68634017381. 1
68634017382. 2
68634017383.3



68634017384. 4

Question Number : 46 Question Id : 6863404390 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

frafalad & S o1 W aey e G SiaF g 82

17 4
2. 2102
3. 2113
4. 2153

Options :

68634017381. 1
68634017382.2
68634017383.3
68634017384. 4

Question Number : 47 Question Id : 6863404391 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Letf: G — H be a group homomorphism from group G into group H with kernel K. If the order of G. H and K
are 50, 25 and 10 regpectively then the order of f(G) iz

1.2

4. 25

Options :

68634017385. 1
68634017386. 2
68634017387. 3
68634017388. 4

Question Number : 47 Question Id : 6863404391 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



AEIf: G — H ¥ K & WY T8 ¢ ¥ 948 H 0 998 YR 81 318 6. H aUI K $I DI HH: 50, 25
Ul 10 B 09 £(G) T BIfC B-

1.2

[
v

4. 25
Options :
68634017385. 1
68634017386. 2

68634017387. 3
68634017388. 4

Question Number : 48 Question Id : 6863404392 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
The equation (2x + y+ 1) dx + (x + 2y + 1) dy = 0 represents a family of:
1. circles
2. parabolas
3. ellipses
4. hyperbolas

Options :

68634017389. 1
68634017390. 2
68634017391.3
68634017392. 4

Question Number : 48 Question Id : 6863404392 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
BT (2 + + 1) di + (x + 2y + 1) dy = 0 U URGR <2l &:
1. gull T
. TR BT
 &Teladl &1
4. HfdRaad] $1
Options :

68634017389. 1
68634017390. 2

[ ]

LS ]



68634017391. 3
68634017392. 4

Question Number : 49 Question Id : 6863404393 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The value of surface integral JJ-S (9xi —2y j—zk )-ndS over the surface S of the sphere x* + 7 + z° = 9 where

£y
#1 1s the unit outward normal to surface element 45 is:

24

1: TTI

216
=

3

b2

3. 216w
4. 24

Options :

68634017393. 1
68634017394.2
68634017395. 3
68634017396. 4

Question Number : 49 Question Id : 6863404393 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gy TS HI\_[‘JI;' 3y j-zk)onds DI 2 +32 + 22 =0 D J¥ S R HM. 56l # G¥Ig 39 dS W SHTS
9IE T ©. &

24
1. T.’l’

2

R

216
g

3. 216x
4. 24w

Options :

68634017393. 1
68634017394.2
68634017395. 3
68634017396. 4

Question Number : 50 Question Id : 6863404394 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



. . . i . . . . . g 7
The line integral of function g — - ; . in the counter clockwise direction. along the cirelex*+y*=latz=1

18

[
J
e

4, 2n

Options :

68634017397. 1
68634017398. 2
68634017399. 3
68634017400. 4

Question Number : 50 Question Id : 6863404394 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
BT = y=) PIAHEG GRITH G2 + 2 = 1D Y 2 = 1 RGN GHHI &

1.2n

']
|
=

4. 2n

Options :

68634017397. 1
68634017398. 2
68634017399. 3
68634017400. 4

Question Number : 51 Question Id : 6863404395 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

4 M, M M

>
If p = X a-"'l +_’£'2 0_1.2 + X5 a"'-?: and | r

= . then div(.i"z V{In J}] 18

—
o

| B
-

4, 1°

Options :
68634017401. 1



68634017402. 2
68634017403. 3
68634017404. 4

Question Number : 51 Question Id : 6863404395 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

- A A A 3 ; 1
afg ro=x aII +,r2 GIZ +x3 ng ‘313|T |I'|=r' %ﬁ div|r= V(In "J} %1

L]
L

5
4. r°

Options :

68634017401. 1
68634017402. 2
68634017403. 3
68634017404. 4

Question Number : 52 Question Id : 6863404396 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The area of surface of solid generated by the revolution of line segment y = 2x from x =0 to x = 2 about x-axis
i equal to:

L 5

2m5
4n/5
4. 815

Options :

68634017405. 1
68634017406. 2
68634017407. 3
68634017408. 4

| B

T

Question Number : 52 Question Id : 6863404396 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



GIEUS y = 2x Bl x =0 Y x = 2 TP x-34& & WU HH I & 31 & ¥ &I 87950 TR o
L /5

2n5

4n 5

RING

Options :

68634017405. 1
68634017406. 2
68634017407. 3
68634017408. 4

| ]

L)

e

Question Number : 53 Question Id : 6863404397 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(211, o 5
_[ | == |dx |dv, we make the substitution u =

Ik.-a

snd v==2 . The

=Y

To evaluate the double integral _F:

2

mntegral will reduce to

—

4 o2 3
i j [ I 2udu | dv
040 /

| B

. J““[ J‘[: 2udu _. av

L¥N]

: j:[ Llllr.rfu ] dv
4, j: : J: : 2udu dv

Options :

68634017409. 1
68634017410. 2
68634017411. 3
68634017412. 4

Question Number : 53 Question Id : 6863404397 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



(/2

SIeR FHHT |

Y

Y |u’1JLi’1 Wﬂﬁmmﬁ$mﬁﬂ H=-

- N
R

THIG A S aidid gH:

[

4 #2 Y
! J | J 2udu | dv
0 S0 J

[ )

: J“[ J-r:. 2udu | dv

L 5]

()

=N

; j...i : I:I 2ueclu dv

Options :

68634017409. 1
68634017410. 2
68634017411. 3
68634017412. 4

Question Number : 54 Question Id : 6863404398 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1+e(z) , .

z

1+
If q)( } =Cytc 2z . then (j.)|z|_|

1. 2mey

b2

2n(1 + ep)
3. Zmie
4. 2mi(1 + ¢p)

Options :

68634017413. 1
68634017414.2
68634017415.3
68634017416. 4

Question Number : 54 Question Id : 6863404398 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



afg 0(z)=cy+¢ z! % dd 'f:|:|_|mu’: %

1. 2meg

[ ]

2a(1 +¢p)
3. 2miey
4. 2mi(1 + ¢g)

Options :

68634017413. 1
68634017414.2
68634017415. 3
68634017416. 4

Question Number : 55 Question Id : 6863404399 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If P(x) is a polynomial of degree 10 with leading coefficient as 11 and having (x — 1), (x — 2), (x = 3)....(x — 10)

as factor. then the coefficient of x” in P(x) is

1.5

L

2. 605

4.5

Lh
Ln

Options :

68634017417. 1
68634017418. 2
68634017419.3
68634017420. 4

Question Number : 55 Question Id : 6863404399 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gl P(x) °Id 10 BT TP 9gUE & forgehT UM I[01e 11 3R UAES (x— 1). (x = 2). (x - 3)...(x— 10) §. &
P(x) H x° &1 T[0T &

1255

[ R

. 605

3.—0605

4.

L
L

Options :
68634017417. 1



68634017418. 2
68634017419.3
68634017420. 4

Question Number : 56 Question Id : 6863404400 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

In the neighborhood of z = 1. the function f(z) has a power series expansion of the form

f@O=1+1-2+(1-2%+ . .thenf(2)is

Options :

68634017421. 1
68634017422. 2
68634017423. 3
68634017424. 4

Question Number : 56 Question Id : 6863404400 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

z=1% WAaM 8, BaH £(0) B G [AR PIFUf(2) =1 + (1 -2) + (1 -2 + ... 3. TEf(2) &

X
Z
5 |
z-2
i 1
2z-1
4.2_1
z+1
Options :

68634017421. 1
68634017422.2
68634017423.3
68634017424. 4



Question Number : 57 Question Id : 6863404401 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

A rectangular box open at the top is to have volume of 32 cubic feets. The minimum outer surface area of the
box is

1. 32 sq.ft
2. 46 sq.ft
3. 44 sq.fi
4. 48 sq.fi
Options :
68634017425. 1
68634017426. 2

68634017427.3
68634017428. 4

Question Number : 57 Question Id : 6863404401 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
U9 HIAOR Ya@ o [ SR U Gl ¢. B 36 32 THIe 5| g o Huan a1g g¥ig 8a%d ¢
1.2 He

[ o)

46 T e

%)

44T Be

i

48 T Fe

Options :

68634017425. 1
68634017426. 2
68634017427. 3
68634017428. 4

Question Number : 58 Question Id : 6863404402 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The value of the dot product of the eigenvectors corresponding to any pair of different eigen values of a 4 = 4
symmetric positive definite matrix is

1.0

[ B}
o

4.4

Options :

68634017429. 1
68634017430. 2
68634017431. 3
68634017432. 4

Question Number : 58 Question Id : 6863404402 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

4 x 4 JHHT TATHS YT 3Megg & e siftenaiore 71 & ol gm & Tra sifiaaione Il &
fifg (STe) TR FTEA &

1.0

4.4

Options :

68634017429. 1
68634017430. 2
68634017431.3
68634017432. 4

Question Number : 59 Question Id : 6863404403 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The matrix P is the inverse of a matrix Q. If I denotes the identity matrix. which one of the following options
1s correct?

1.PO=1Ibut OP£]

| ]

OP=Tbut PO #1
3. PO=Tand QP=1
4. PQ-QP=1I

Options :
68634017433. 1



68634017434.2
68634017435.3
68634017436. 4

Question Number : 59 Question Id : 6863404403 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

31 P U HIHG O I YobH ¢ | Tld I dHS SHTodg aial ¢ | FafaRad O ¥ &H |1 oy 95l g2
1.PO=ITRGOP =1

QP=IWRGPO=1I

3.PO=13ROP=1

[ ]

4.PQ-QP=1

Options :

68634017433. 1
68634017434. 2
68634017435.3
68634017436. 4

Question Number : 60 Question Id : 6863404404 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

; (1 0y (-1 0y (i 0} = { . : e
If the matrices ‘ | | | [ ‘ and form a group with respect to matrix multiplication,
o o/lo o) lo o 0 0

then which one of the following statements about the groups, thus formed is correct?

1. The group has no element of order 4.

[ )

. The group has an element of order 3.

L]

. The group is non-abelian

1 0). . .
4. 15 1t5 OWIN INVErse,
0 0

Options :

68634017437. 1
68634017438. 2
68634017439. 3
68634017440. 4

Question Number : 60 Question Id : 6863404404 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



afe afragg | :Ip ::\|. \(_”' :\]_ [(:I E:\ quT [_(; EJ TR U & Hfavid U 9HE &1 &, 09 9981 &
\ £ A i /
IR T 59 UeR - FafafEd sy 8 3 oF 91t 98l 22
1. 915 H Pig 394 4 Hifc HT16] o

2. TG T US 3094 3 FIfe FTE

3. g R udfeEA g1

1

T [ 0

| ::J ST S5 1 hH B
Options :

68634017437. 1

68634017438. 2

68634017439. 3

68634017440. 4

Question Number : 61 Question Id : 6863404405 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following are generators of the multiplicative group {(1.2.3.4.5.6). <7} where %5 denotes
multiplication moduls 7?

1.3 and 4

3.4and 5
4.3, 4and 5

Options :

68634017441. 1
68634017442.2
68634017443. 3
68634017444. 4

Question Number : 61 Question Id : 6863404405 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



FrafRad @ 3 &1 9 0TS G958 {(1.2.3.4.5.6). x;} B T (G-REIY) 82 Tal -, UNHS AT 7
RG]

1.3 3R 4
33Rs
3.4 3R 5
4.3,4 3R 5

[ R]

Options :

68634017441. 1
68634017442. 2
68634017443.3
68634017444. 4

Question Number : 62 Question Id : 6863404406 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

4
; iz : i “y ;
The general solution of differential equation 2 + 0y =gin

dx

3,\: 18

aiven that ¢; and ¢, are arbitrary constants)

£ 1 2 Y )
1. .

1. ¥y=q¢ 005(3,\' + '5'2} + E sinx — sin 3x

3

e + <5 i

[ ]

y=c

1. 1
3 ¥+ —sinx+ —cos 3x
17 2

Ty = 5 .
3. y=¢ +oxe +2sinx - E sin3x
4. y=g¢ sin {Sx +c, } + i sinx + —— cos 3x
g 32 24

Options :

68634017445. 1
68634017446. 2
68634017447. 3
68634017448. 4

Question Number : 62 Question Id : 6863404406 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



HGHT THHI 22 L9, —gin* v BT JHI 5 &

dx*
fE g & ¢, 3R o, U5 3R T )
1. y=¢ 005(3,\' + '5'2} i ﬁ sinx — sin 3x

cro el
y=g e toe

=3

b2

1 . 1
4 —sinx+ —cos 3x
32 2

Ty - 5 .
3. y=¢ +oxe™ +2sinx — —sin3x
: 13
4, y=¢ sin (Sx + 0, } + .5 sinx + = cos 3x
" 32 24

Options :

68634017445. 1
68634017446. 2
68634017447.3
68634017448. 4

Question Number : 63 Question Id : 6863404407 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
: ! 2 ' P
The solution of (:-:2 — \6_1«‘] dx + ( Yo = ‘JE.".’ ] dy =0 is given by

1. ¥ =2xy+ »* =¢. where ¢ is and arbitrary constant

[ ]

v =323 + 37 =¢. where ¢ 1s and arbitrary constant
3. ¥ +32x+ y* = ¢ . where ¢ is and arbitrary constant
4, 3x% —f2xy + 33% = ¢. where ¢ is and arbitrary constant

Options :

68634017449. 1
68634017450. 2
68634017451. 3
68634017452. 4

Question Number : 63 Question Id : 6863404407 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



(e (2 e —o o1t P T

1. 2 =By + ) =c. 61 ¢ TP U5 AR T |

| S

38y 4y = . T8I ¢ TP U9 3R T |
3 ¥ ]ﬁl’j' + _1'3 ¢ G‘ET-C wm SR % |
4. 353 _ JE.J;}-' + 3)-3 e ud® Ufss® 3R %' |
Options :
68634017449. 1
68634017450. 2

68634017451. 3
68634017452. 4

Question Number : 64 Question Id : 6863404408 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
The solution x; = 1. x, = 1, x3 = 0 and z = 3 to the system of equations
_Y}_ 7 5 .T2 §.3 I3 =2
_'('1 + 'TE o _"f3 =2
XI. _1('2. _'(3 1’ 0

which minimizes z =x; + 2x; + 3x3 is

1. not feasible

[ R]

. not basic
3. feasible and basic

4. basic but not feasible

Options :

68634017453. 1
68634017454.2
686340174553
68634017456. 4

Question Number : 64 Question Id : 6863404408 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



.T}_.."C:. Y3:_}O

DIEA x;=1Lx,=1.x3=0 3R z=3 T z=x, + 2x, + 3x; BT GATHIBRU DA &:

1. gEHTa el
2. STYRYT (FEY) Tel
3. JHTIA U4 Herd
4. FETH TR R Tl

Options :

68634017453, 1

68634017454, 2

68634017455.3
68634017456. 4

Question Number : 65 Question Id : 6863404409 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Consider the linear mapping F: 52— 52 defined by F(x, v) = (3x + 4y 2x — 5y) and following bases of Z.%:

E={ey.e;} ={(1.0), (0. 1)} and 5= {uy. us} = {(1. 2). (2. 3)}. Then the matrix 4 representing F relative to

the basis E is;

3 4

1.

L 2 _5_

ey
2

3 0
3

1 -5

i 2
4

13 4

Options :

68634017457. 1
68634017458. 2
68634017459.3
68634017460. 4



Question Number : 65 Question Id : 6863404409 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fgaR Sifoe & e E® v 7 22— 22 F(x 3) = B3x + 49, 23— 59) GRITRYIRG § 3R 22 %
afafad sE 1

E={ey.e;} = {(1.0). (0. 1)} AR S = {uy. up} = {(1. 2). (2. 3)}. T4 SR E & WU F DI G aTeil SHTogg
AT

3 4

1.

— _5

3 s
2

3 0
3

=2

1 2
4

|3 3

Options :

68634017457. 1
68634017458. 2
68634017459.3
68634017460. 4

Question Number : 66 Question Id : 6863404410 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Inagroup G, ifa® = e, aba~! =b” for a, b € G then o(b) is equal to:

1. 30

[ o]
(5]
2

4.2

n

Options :

68634017461. 1
68634017462.2
68634017463. 3
68634017464. 4

Question Number : 66 Question Id : 6863404410 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



qfg a,be G & U TH TG G. Ha® =e. aba ' =52 8. Tl o(b) IR &

1. 30

!-—J
(%)
-

4. 25

Options :

68634017461. 1
68634017462. 2
68634017463. 3
68634017464. 4

Question Number : 67 Question Id : 6863404411 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which one of the following statements is wrong.

1. The centre of a group G is a subgroup of G.

[

. The union of two subgroups is always a subgroup.
3. If G is a finite group and H is a subgroup of G then o(H) divides o(G).

4. HKX is a subgroup of G iff HK = KH.

Options :

68634017465. 1
68634017466. 2
68634017467. 3
68634017468. 4

Question Number : 67 Question Id : 6863404411 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
[FafaREd | I oH 91 &Y Tod 82
1. 98 G 1 $5 G B SUHE eial o
&1 SUHHg! &1 Jier §ad U SUHHE gidl gl
0% G U aikfid I9E § 3R B, ¢ &1 U@ SUUHE § d o(H). o(G) B! fauiford sar 81

[ ]

LFS]

4. HK, G &1 0% JU9HE ¢ di< 3R daq af¢ HK = KH.

Options :

68634017465. 1
68634017466. 2
68634017467. 3



68634017468. 4

Question Number : 68 Question Id : 6863404412 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Which one of the following is wrong?
1. The set 7 of integers forms a group with respect to the usual addition of integers.
2. Let G be the set {1. —1}. Then it forms a group under multiplication

3. Set of all non-zero complex numbers forms a group under multiplication.

4. The set {} of rational numbers forms a group with respect to the usual multiplication of rational
numbers.

Options :

68634017469. 1
68634017470. 2
68634017471.3
68634017472. 4

Question Number : 68 Question Id : 6863404412 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

[T ® 9 o 1 e Terd 82
. quis H¥eAT]l 1 §=Y = guifes H@Isil & WIURUI 4 & Siaiid §Hg §1dl ¢

[

[ ]

. OfE G U 9= {1. -1} 5. 1 95 0H & id1ld U HHg a1 5|

Tt TR T ity et &1 95wy 10 & idiid U 99g &-1dl g

L#%)

4. g el &1 I @ UREY T3eA1 & HIUR AUH & Sidifd 9Hg §91d1 6

Options :

68634017469. 1
68634017470. 2
68634017471. 3
68634017472. 4

Question Number : 69 Question Id : 6863404413 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



If fix) satisfies the conditions of Rolle's theorem in [1. 2] and fix) is continuous in [1. 2], then j'] F'(x) dx 1s

equal to

1.4

| B
L]

4.2

Options :

68634017473. 1
68634017474.2
68634017475. 3
68634017476. 4

Question Number : 69 Question Id : 6863404413 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e Ax) Il DI T & [1. 2] H TGP DRl § a1 flx) SiavTed [1, 2] § Tad 6. 99 f;'-(x) dx TR T

2
o

4.2

Options :

68634017473. 1
68634017474. 2
68634017475.3
68634017476. 4

Question Number : 70 Question Id : 6863404414 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If [ is twice differentiable function such that f"(x) = — f(x) and f'(x) = g(x). h(x) = [fl[.'r)}3 +[g{x)]: and
h(5)=11.then A(10)=

1.22

| o]
—
—_

4. 21

Options :



68634017477. 1
68634017478. 2
68634017479.3
68634017480. 4

Question Number : 70 Question Id : 6863404414 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e/ U@ f-Sa@ ey Wer SHIPRE B £7(x) = - /(x) SR £1(0) = g(0). hx) = [/ (0)f +[g()
3R p(5)=11.T8 h(10) =

1"1'1

[ ]

~11
3. 15
4. 21

Options :

68634017477. 1
68634017478. 2
68634017479. 3
68634017480. 4

Question Number : 71 Question Id : 6863404415 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

|
5 . (fa+n)
Letf: % — F be such that £(1)=3 and f'(1)=6.Then lim | *¥——=
x— f(])

equals

[ ]
(]

4.1

Options :

68634017481. 1
68634017482.2
68634017483. 3
68634017484. 4

Question Number : 71 Question Id : 6863404415 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



e
e /7 S RSAUPR e 1P F(1)=3 AR ' (1)=6.79 lim [%J RGP

x—) ﬂ)

[ ]
(o]

4.1

Options :

68634017481. 1
68634017482. 2
68634017483. 3
68634017484. 4

Question Number : 72 Question Id : 6863404416 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3 3
: ; " = ; Ay XY
The integrating factor of the differential equation — = ——— 15

X _1:1:"

| o]

Options :

68634017485. 1
68634017486. 2
68634017487.3
68634017488. 4

Question Number : 72 Question Id : 6863404416 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



[
N

Options :

68634017485. 1
68634017486. 2
68634017487. 3
68634017488. 4

Question Number : 73 Question Id : 6863404417 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The surface area of the sphere X2+ }'2 +72=09 Iying inside the eylinder X+ }'2 =3yis

1.18 (1 +2)
2.18(n-2)
3.18(m—4)
4.18 (n+4)

Options :

68634017489. 1

68634017490. 2

68634017491.3
68634017492. 4

Question Number : 73 Question Id : 6863404417 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



1.18(m + 2)
2.18(m—-2)
3.18(m—-4)
4. 18(m+4)
Options :

68634017489. 1
68634017490. 2
68634017491.3
68634017492. 4

Question Number : 74 Question Id : 6863404418 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

” : - . 3 2 2 2 . . -
Let f(z)=u+iv be an analytic function, where & = x~ —3xy~ + 3x° — 3y". then the imaginary part v of

fl2) is
1. 3x2_1' + 6.‘(}'—}‘3 Fie

2 3x3_1' + fxy +}'3 Fg

? 3
Ixyt+toexy—y +e

2 3
4. 3xy—6xy—3 *e

Options :

68634017493. 1
68634017494.2
68634017495. 3
68634017496. 4

Question Number : 74 Question Id : 6863404418 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e f(z) = u+iv U [A0NG Ba 8, 8T w=x" —3xp” +3x> —3y? 8.9/ (2) BT HIeUD T v
e

g i
1.3axy+6xy—y +c

[ )

. ’

Axy+éxyty te
, .

3.xy+oxy—y +e

2 3
4. Ixy—6xy—y +e¢



Options :

68634017493. 1
68634017494.2
68634017495. 3
68634017496. 4

Question Number : 75 Question Id : 6863404419 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1 2 3 4 5 6),
is
2 4 6 51 3

The order of the permutation [

[
| G

4.8

Options :

68634017497. 1
68634017498. 2
68634017499. 3
68634017500. 4

Question Number : 75 Question Id : 6863404419 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1 2345 6) 0ans
24 6 513
1.1
3.4
4.8
Options :

68634017497. 1
68634017498. 2
68634017499. 3
68634017500. 4

Question Number : 76 Question Id : 6863404420 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



=2 5 =3

If Ay Ao, A3 are the eigen values of the matrix | 2 1 —6 /. then 2y + Ay2 + A3% is equal to
-1 =2 0
1.45
2.40
3. 34
4. 43
Options :

68634017501. 1
68634017502. 2
68634017503. 3
68634017504. 4

Question Number : 76 Question Id : 6863404420 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

=2 2 =3
| 2 1 6| B ANAD T Ay, do. 13 B, A6 42 + 0,2 + 02 TWER &
-1 =2 0
1.45
2.40
3.34
4.43

Options :

68634017501. 1
68634017502. 2
68634017503. 3
68634017504. 4

Question Number : 77 Question Id : 6863404421 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The minimum distance of the point (3. 4. 12) from the sphere X2+ }'2 +72=11is

1. 14

S}

16
3.12
4. 10

Options :



68634017505. 1
68634017506. 2
68634017507. 3
68634017508. 4

Question Number : 77 Question Id : 6863404421 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

g (3. 4. 12)FIMAL+ 2+ 2= 1 FFman g &

1. 14

| B

16
3.12
4. 10

Options :

68634017505. 1
68634017506. 2
68634017507. 3
68634017508. 4

Question Number : 78 Question Id : 6863404422 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

iz expanded in the region |z] < 1, then

It f(z)=

h;2—3z+2

2 f[z]:—+§:+5: +I_‘iz +
1.3z 7 15 4
3 f{z}_5+—+a:2+—gv -
1 3z 69 153
4 Zy=d—r =g gt
/) Z. & 11
Options :

68634017509. 1
68634017510. 2
68634017511. 3
68634017512. 4

Question Number : 78 Question Id : 6863404422 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



e f(z)=——— 8 |z| <1 HuEIRA &, a8

:-2 -3z+2

Options :

68634017509. 1
68634017510. 2
68634017511. 3
68634017512. 4

Question Number : 79 Question Id : 6863404423 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Re(z) i
The function f(z) defined by [ (z] = z then which one of the following is true?
0, z=0

1. lim f{Z} exists
z— 0

2. f(z) is continuous at z =0

LoS]

. f(z) is differentiable everywhere

=

.f(z) 18 not continuous atz =10

Options :

68634017513. 1
68634017514.2
68634017515.3
68634017516. 4

Question Number : 79 Question Id : 6863404423 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Re(z)
BESOB f(2)=1 =z 270 & uiuifid rar o &, oe Rk 4 4 o a2

1. lim f(z) fagmg |

z—= 0

2.f(2).z=0RIAAE |

3. f(z) T T R EH g R |
4.f(Z),z=0RAad T8l ¢ |

Options :

68634017513. 1
68634017514. 2
68634017515.3
68634017516. 4

Question Number : 80 Question Id : 6863404424 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The volume generated by the revolution of the cardiod r = a(l — cos8) about x-axis is

. 8na®
3

| ]

. 8ma

Ama’
3

4. 4na’

Options :

68634017517. 1
68634017518.2
68634017519. 3
68634017520. 4

Question Number : 80 Question Id : 6863404424 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



-8 T TRT AR BUSATEE 7 = a(1 — cosd) P TRGH GRT ST AT &

1 3mr3

3

!.J
x
w1

4. 4na’

Options :

68634017517. 1
68634017518. 2
68634017519. 3
68634017520. 4

Question Number : 81 Question Id : 6863404425 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

.. 2
SINTLZz™ + COSTM=~ : . bl .
dz , where C is the circle [z] = 3 is

The value of -
fiae o

| B
[rs]
=
=

4. m

Options :

68634017521.
68634017522.
68634017523.
68634017524.

AW N~

Question Number : 81 Question Id : 6863404425 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



J‘ ‘?II'IT[Z + COQI[Z

Ge-2) dz SBIC:|z|=3TH qU 5. PIHHA &

| ]

. 8m
3. 2m
4. T

Options :

68634017521. 1
68634017522.2
68634017523.3
68634017524. 4

Question Number : 82 Question Id : 6863404426 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

5 2 I 3
4

%)

The given series -

1.3

+ .o - [(x=0) 18 convergent in the interval

1. [1, o)

[

(1, ®)
3.(0. 1]
4.[0.1)

Options :

68634017525. 1
68634017526. 2
68634017527. 3
68634017528. 4

Question Number : 82 Question Id : 6863404426 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e St o (x> 0) T siqwra 7 siftrardt &
13 24 35
1. [1. =)
2. (L. %)
3.(0. 1]



Options :

68634017525. 1
68634017526. 2
68634017527. 3
68634017528. 4

Question Number : 83 Question Id : 6863404427 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which one of the following is not correct?

1. The set of limit points of a bounded sequence is bounded.

2. A bounded sequence with a unique limit point is convergent.

3. The limit points of the sequence (2 + {-wl]”) are 1 and 2.

4. The limit points of the sequence ((—I)”} are—1 and 1.

Options :

68634017529. 1
68634017530. 2
68634017531. 3
68634017532. 4

Question Number : 83 Question Id : 6863404427 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
frafafad @ 9 o w1 e w8l 18l 82
1. T% UReS 3P & 9 g 31 99=0 uRes ¢ |
2. Hfgla dim fag &t uRas sy SiiaRi g

3. 313t (24 (-1)") B g Lau2 @

4. HW<{—I]"> PIdmrfag -1 qur1 @

Options :

68634017529. 1
68634017530. 2
68634017531.3
68634017532. 4

Question Number : 84 Question Id : 6863404428 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



=3x 0‘
¢ .where D=L s
X Ele'

The general solution of (!}2 +6D+ 9]_1: =

(given that ¢; and ¢, are arbitrary constants)

=3x
a [C
L gp= ({’l +c.-2x)e 3x 4
2x
3x
-
Zoy= (cl +-:*?x)e3"‘ -
“ 2x
—3x
e
3 'l:(L +e, 2% | 2% 4
L >
i eﬁ.r
4 Jv=(|:.'.[ +Lﬁx)c e
2x

Options :

68634017533. 1
68634017534. 2
68634017535.3
68634017536. 4

Question Number : 84 Question Id : 6863404428 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

5 —3x

— T B e p=? %

X dx

(0’3 +6D+Q)_u =

fea Mg & ¢, 3R ¢, U5 SR B 1)

_ e %
1. y:(cl +c.'2x)e 3x
2x
>
7 Ix., £
2. y=|g +eyx)e’t +—
y=(e +epx) =
—3x
Ay €
3. 1':(::] +c2x2)e S .
' 2

L d s e'
4. y= (r_rl f r_'zx) e a + 5
X

Options :

68634017533. 1
68634017534.2
68634017535. 3
68634017536. 4



Question Number : 85 Question Id : 6863404429 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
If F=2zi— Xj + vk and ¥V is the region bounded by the surfacex=0.y=0.x=2.y=4,z= x%.z=2. then

value of HJ FdV is
I

1. f—i[s_hﬂ}]

.55[3?—52]
15

3. 22 (57 + 3#)

[ R

3202 on
4. E{SJ +5_,r)

Options :

68634017537. 1
68634017538.2
68634017539. 3
68634017540. 4

Question Number : 85 Question Id : 6863404429 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e F:Zz;—.l_“;-i—}:_.’; LR I"qu=(}.}.-=0.x=2.}‘=4.Z=.\’2.z=2§mq dG %ﬁ%ﬂaﬂdeP Pl
%

I &-
7y R
1 E(’;_;+5k]
2 53[3?75$]
15
: S
3 E[SJ‘FJ’)
f—5(3§+5})
Options :

68634017537. 1
68634017538. 2
68634017539.3



68634017540. 4

Question Number : 86 Question Id : 6863404430 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
pLi 5 ) . - : 2 ; | '
If F'=y~i+xyj+xzk and C is the bounding curve of the hemisphere x* + % + z2 =9, z > 0. oriented in

the positive direction, then value of j F-dr is
C

1.0

Options :

68634017541. 1
68634017542.2
68634017543. 3
68634017544. 4

Question Number : 86 Question Id : 6863404430 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

afg F=y2i+x +xzk qu et 2«32 + 2 =0, 2> 0 b1 Hieb o &, Rrget s

YT G H 8. a9 jF-cfr’ HTAAT:
5

1.0

[
[

3.1
4.2

Options :

68634017541. 1
68634017542.2
68634017543.3
68634017544. 4

Question Number : 87 Question Id : 6863404431 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



If W is a subspace of 72 . where W= {{a. b. ¢): a+ b+ ¢=0}, then dim J¥ iz equal to

1.2

]
5]

4.0

Options :

68634017545. 1
68634017546. 2
68634017547. 3
68634017548. 4

Question Number : 87 Question Id : 6863404431 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

afe 23 PIIU-TAR W 6T = {(a. b. ¢): @+ b+ ¢ = 0}, T dim W TI&X &

1.2

b
LS ]

4.0

Options :

68634017545. 1
68634017546. 2
68634017547.3
68634017548. 4

Question Number : 88 Question Id : 6863404432 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The dimension of the general solution space ¥ of the homogeneous system
xq+2x5—3x3+2x4 —4x5=0
2xy Tdxy; —5x3 t x4 —Ox5=0
Sxp +10x; — 13x3 +4x4 — 16x5=0

1.2

2
[¥¥)



Options :

68634017549. 1
68634017550. 2
68634017551. 3
68634017552. 4

Question Number : 88 Question Id : 6863404432 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
T T & e g9 31 famnE -
Xyt 2x5—3x3+2x4 —4x5=0
2x; +4x5 —5x3 tx4 —6x5 =0

5.Y1 By 101’2 = 133(3 oE 4'{—@ - lﬁxi =0

2
L¥N]

4.

h

Options :

68634017549. 1
68634017550. 2
68634017551. 3
68634017552. 4

Question Number : 89 Question Id : 6863404433 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Let F : 23— 22 be the linear map defined by F(x, 1, z) = (3x + 2y — 4z, x — 5y + 3z). The basis of 23 is § and
basis of 3.2 is S'. where 5= (1,1, 1).(1, 1, 0), (1, 0, 0)} and §' = {(1. 3). (2. 5)}. Then the matrix of F in the
bases of 7. and 2% is

[—7 33 -13]
4 19 8

> =7 =33 8}

13 15 13
[T 4
3.0-33 19
| 13 18

=7 13 =33
4 18 9



Options :

68634017553. 1
68634017554.2
686340175553
68634017556. 4

Question Number : 89 Question Id : 6863404433 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

OFF 23 22308 @ Ui § 9 Flx, 3, 2) = (Bx + 2y — 4z, x — 5y + 32) G URYING 51 23 &1 3MUR S
TUI 22 FT YR $ 8. 981 S = {(1, 1. 1), (1. 1, 0), (1. 0. 0)} TUT 5" = {(1, 3). (2. 5)}. 9 =3 TUT 22 & MR
o F 1 3133 &-

1 -7 =33 —13]
14 19 8|
5 -7 -33 8§

|3 15 -I13

[-7 4
3.|1-33 19

| 13 18

(-7 13 3%
4.

4 18 9

Options :

68634017553. 1
68634017554.2
68634017555. 3
68634017556. 4

Question Number : 90 Question Id : 6863404434 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

12 0 -l
If 4A={2 6 -3 -3| .then which one of the following is true?
3 10 -6 -5
1.Rank (A)=4

2. Rank (A)=3

3. Rank (A)=2

4. Rank (A)=1
Options :

68634017557. 1
68634017558.2



68634017559. 3
68634017560. 4

Question Number : 90 Question Id : 6863404434 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1 2 0 I
e 4=|2 6 -3 -3| e defERTddsTaas

3 10 -6 -5

1. PIfc (A)=4
2. I (A)=3
3.@ifd (A)=2
4. PIE(A) =1

Options :

68634017557. 1
68634017558. 2
68634017559. 3
68634017560. 4

Question Number : 91 Question Id : 6863404435 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

< , l T
3,6

, dy . :
If the solution of y— + y=Xx 1s = = + C.thenvalue of o+ + v is
dx |_1.=U"xB 2x

b2

.10
3015
4. 20

Options :

68634017561. 1
68634017562. 2
68634017563. 3
68634017564. 4

Question Number : 91 Question Id : 6863404435 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



qﬁx%+)':x3y6 BIET — =Lt CR. T+ oy FIAAE-

4.20

Options :

68634017561. 1
68634017562.2
68634017563. 3
68634017564. 4

Question Number : 92 Question Id : 6863404436 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

d’y  dy .
2 —Zx;l—-ﬂf)-‘:x“l.rl

If x2
dx? dx

1en particular integral (P.I) of the given differential equation is

L X ('4);‘

5

| ]

L 4, .
-gx log x

3 xedX

4

L..&
4 —x”logx
1 g

Options :

68634017565. 1
68634017566. 2
68634017567. 3
68634017568. 4

Question Number : 92 Question Id : 6863404436 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



L ) .
aft f\.z"v”_-‘_ng;‘_%.-:x“* R, 79 €1 7 s d TR0l o ARy S -
-

di?
| % L,-ix
5
2. -I-x'ﬂ' log x
5
3 J_.E_,S.T
4
L .8
4. —x"logx
4
Options :

68634017565. 1
68634017566. 2
68634017567. 3
68634017568. 4

Question Number : 93 Question Id : 6863404437 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

[—-. x20,v=0
If f: 52— 22 is a function defined as f (x,y)= \ X2 +)”
1 . x=0,y=0

then. which of the following is correct?

[

. f(x, ¥) is continuous at origin.

| ]

. f(x, ¥) 18 differentiable at origin.

lim X V) existenndi >
3. (x.9)00.0) S(x,)) exists and is equal to 2.

4. f(x, ¥) 1s not continuous at origin.

Options :

68634017569. 1
68634017570. 2
68634017571. 3
68634017572. 4

Question Number : 93 Question Id : 6863404437 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



—t . x 0, v=0 e
e £ 72 R2TS B G Gl f (v, y) = a2 +7 T S ofonfie 2, PR A ad 2

2, x=0,vy=0

1. f(x, y) Gaileg W 9ad ol
2. f(x, y) olag R 3fadba-d g |

3. lim f(x,y) fGemm g qur 2 & R

C{x,¥)—=(0,0)"

4. f (x, y) HAlleg OR Idd ol o

Options :

68634017569. 1
68634017570. 2
68634017571. 3
68634017572. 4

Question Number : 94 Question Id : 6863404438 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

- X+ v € .
If u=cos | ——— | . then the value of xﬁri + vi 18
X +\/} dx T dy
]
1. —cotu
2
|
2. ——cotu
2
|
3. ——tanu
2
1
4. —tanu
2
Options :

68634017573. 1
68634017574. 2
68634017575.3
68634017576. 4

Question Number : 94 Question Id : 6863404438 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



o
o I[rij a2,
VX LY ox dy

1
1. —cotu
2
|
2. ——cotu
2
1
3. ——tanu
2

]
4. —tanu
2

Options :

68634017573. 1
68634017574.2
68634017575. 3
68634017576. 4

Question Number : 95 Question Id : 6863404439 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The extreme points of the set {{x )il =2,y < 2} are

1.0, 0), (2, 2)

]

L DN 2N D 2 D)
. 06 1 W 0 DO 5 (W
P o) i s o S 1 )

Options :

68634017577. 1
68634017578. 2
68634017579.3
68634017580. 4

Question Number : 95 Question Id : 6863404439 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



T {(x, y); | <2,y <2} ISR RS

1.(0.0). (2. 2)

| 5]

AL 1), (2:2), (1 =102 2)
3.1 (-1, 1), (-1.-1). (1. -1)
4, (2.2). (2. 2), (2. -2} (2. -2)

Options :

68634017577. 1

68634017578.2

68634017579.3
68634017580. 4

Question Number : 96 Question Id : 6863404440 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The point (—1. 2. 7. 6) lies in which of the following half spaces corresponding to hyperplane

E.TI g 5.'(2_'—11’3 A 5x4=6

1. 2x1+5_‘63—4x3+_‘7x4{16

[ o]

£ 3.‘(]‘__ + 5.¥: _'—1-."(3 i 5].'4 :3’6
3. 2xy + 3x +4xg + 5x4 <62
4. 2.‘(}_ -+ .3.'(2 _'—1-_1(3 o f!x4 =62

Options :

68634017581. 1
68634017582. 2
68634017583.3
68634017584. 4

Question Number : 96 Question Id : 6863404440 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

[ (-1. 2. 7. 6) FAfaRad O 9 &1 9 3¢l guf® & o=y sfteaa o fqumH g2

2:{'}_—:3_'{'2 _4'['3 +_:‘_T4=6

1. lfl_j’(: _4'(3 +5.T4{:6
2. Z.TE_:S.'CE _4."('3 +5x4'>6
3. 2.‘(1_:.3.'{'2 _4.1'3 +5.T4{:'62

4, Z.YI_'LS_TE _4X3 +:-‘-‘X4::"62



Options :

68634017581. 1
68634017582.2
68634017583. 3
68634017584. 4

Question Number : 97 Question Id : 6863404441 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

H—0

3y ay (
The value of lim %k;] LE ”+w is

| B
fen]

Options :

68634017585. 1
68634017586. 2
686340175873
68634017588. 4

Question Number : 97 Question Id : 6863404441 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

[
L]

Y
EJ

Options :

68634017585. 1
68634017586. 2
68634017587. 3
68634017588. 4



Question Number : 98 Question Id : 6863404442 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The orthogonal trajectories of the family of curves v = ax® is

]

1L2x2+ 3y =¢

)

| ]
..<
i
|
%]
famt
i
Il

Options :

68634017589. 1
68634017590. 2
68634017591. 3
68634017592. 4

Question Number : 98 Question Id : 6863404442 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
T y = ax’ B IRAR P AGHIUNT Hegl &1 9Y §:

7 2
1.2x+ 3y =¢

| ]
,..<
b
|
e
=
[
Il

Options :

68634017589. 1
68634017590. 2
68634017591. 3
68634017592. 4

Question Number : 99 Question Id : 6863404443 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



( .l )!i‘ ;
The sequence - 18

1. oscillatory sequence
2. divergent sequence
3. either Cauchy or convergent sequence
4. both Cauchy and convergent
Options :
68634017593. 1
68634017594. 2

68634017595.3
68634017596. 4

Question Number : 99 Question Id : 6863404443 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

n

1. gl 3 H
. 3UERI 3

3. AT Al HIRT A1 SUART 3HH

| ]

4. BIRf TUT SUTRL g

Options :

68634017593. 1
68634017594. 2
68634017595.3
68634017596. 4

Question Number : 100 Question Id : 6863404444 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



With the help of suitable transform of the independent variable, the differential equation

mi ;
x d’y i ga_h._ =b6x+ l reduces to the form:
de? o v

. —=—4+2—==6e" +1
dr* i
d*y _dy

L W
di>
2.,

3. d—;=6e"+lngf
dt
2,

4. d—'\:{)e* +t
di

Options :

68634017597. 1
68634017598. 2
68634017599. 3
68634017600. 4

Question Number : 100 Question Id : 6863404444 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

2 : :
Wad IR P Yol = Yidiv] Pl Hag I, Pl JHIH0 xi*'_.g.iJr%r‘f};:ﬁHl & I B 9 &
X

dx”
d? dy
12X 02 620
dr* dt

[
S
2
St
S
I
o)
o
ta

2
d- v
3 —; = 6" +log1
dr
2 5
4. —==6¢' +1t
dt”
Options :

68634017597. 1
68634017598. 2
68634017599. 3
68634017600. 4



